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101|R#A7 L 621 317 304 Kg |B) 1,188 324|F )1l 2,160 864
102|357 L 1,976 1,976 Kg BB 1,566 579
111|&EEF £ 251 33 218| Kg |ER 1,080 162|125 - BA 1,728 338
113|RAV S 36 5 31| Kg |EE 1,080 487 | E 3,024 1,620
114|B5EFE 218 218| Kg BRE - &E 2,700 1,080
15[ 1= 12 11 1| Keg |EE 1,404 323| 2,484

117[1E 53 4 49| Kg |EE 216 BiE 756

121|rblE &€ 55 21 34| Kg |EE 1,404 485| 1,620 864
134[#= = 338 272 66| Kg |£E-=H 2,808 108|5#p 2,916 1,728
137|&5ES. < 262 189 73| Kg |EI 4,536 1,620 BER 7,062 1,188
138|Hm % 2 60 60| Kg FE 1,188 972
140(5 I 9 9 Ke I35 43,200 28,800
147|EZ O 92 92| Kg |EE 8,639 b 8,100 4,000
168|BIEM AL H 331 331 Kg FIE 2,106 1,296
201|{Lb L 1,074 1,074| Kg T 691 288
203|/Né L 68 68| Kg FfE 324 270
205|5u8 L 570 570| Kg KI5 598 351
206| 1 812 12 800| Kg |EE 270 BER 821 324
208| Mo % 160 160 Kg ML 1,728 972
212|&5E.3Y 1,056 1,056| Kg EN - BIE 1,998 1,080
251|< B %<3 457 142 315| Kg |FE 5,940 BiE 7,344 3,780
254|E b ECH 808 808| Kg T 2,592 1,026
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303[A 27z 53 53| Kg R 621 386
305|xAah>0b 3 3] Kg i 5,400

306|Le &Y 9 9] Kg . 1,008

319|2h o 684 455 2291 Kg |R& 1,620 486|126 1,944 710
332|= 13 WA =EF 149 149] Kg Bl = 2,160 2,052
351(4EH 86 11 75 Kg |=¥ 5,940 2,700| =4 14,040 3,780
35411FxE<Y 56 10 46| Kg |FFE 1,620 FIE 1,944 1,134
355(mp Y 110 110 Kg A - BE 1,728 600
356(L L& 85 85 Kg SER 1,512 1,080
357|7RE 109 109 Kg Ko 4,536 1,148
358|KE 10 5 5| Kg |EHM 1,944 FAN 1,944

362| & 398 398| Kg INZ 3,456 281
4025 E 15 15| Kg FAN 5,292 5,184
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507|@— L Ly 110 110| Kg =] 810 702
5124 A L 1,280 1,280 Kg E[A=s 1,450 1,100
523|AEAAT 2 O 1,293 1,293 Kg =3 R2p] 4,860 1,050
54| A & 2V 22 22| Kg FE 1,560
554\ XX BIA AR 160 160| Kg b 1,050 450
558|# 20 20| Kg b 972
560|472 285 285| Kg Bh 2,500 990
5664 A < 10 10| Kg b 4,000
576|4R & 1F 1,185 1,185 Kg e[AEs 1,000 980
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70110 BA 1,408 1,408| Kg & 2,694 810
709|Lb LALF 120 1201 Kg TFE 810 756
710(2 2 AT 216 216 Kg Ko 1,375 1,227
BlEFAI L 523 502 21 Ke |B1R 750 662|51R 1,836 1,272
755|FH&» C 23 23] Kg 3 1,296 537
759|555 EE L 24 241 Kg =, 1,260
76l|b Y AEE 6 6 Kg FO&rL 1,980
76713725 WD 72 72| Kg EE 1,800
801 [3BATL = 1S 356 356 Kg FE-mA 1,728 454
802|111 20 201 Kg blo ] 1,242
805 = 1E 344 3441  Kg bF 1,269 783
810|BAKTF 134 134] Kg B =2 2,700 1,325
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